MP-25-AAA-4

PITT Qube

O8fidFERCEESTEIEDNHYET,
CERHIBIEREA DM X,

RAREHRORTIZITo>TEY £ A

OXRTESITHERIEENTSY FEA,

WL

2025/03/26 11:35:49

Copyright(c) KOSHIN Ltd. All Rights Reserved.



PITT Qube
ORMEASEBROBEFT>TEY A,
ORTEGICHERIISEINTEY A,

MP-25-AAA-4

OBMEFERCERTSIENHY T,

OERHIBIEREA DM X

No. mE i RE - ME B EM wE
1 023028006  |[MP-25 £-4- AC100V- 1 20,800|N0O.45 &
350W
2 023027304  |MP-25 -4-1-2 ADC 1 8,700
3 023021808  |FXSP-25 74" 7°%- ADC 1 5,700
4 012207402  [SE-25 % ¥7° -2 ADC 1 5,000
5 011332503  [SE-25XIRA757Y" ADC 1 900
6 011048603 [SE-25mtH 75V ADC 1 1,400
7 023032704  [FXSP-25 {/A°3 1 1,500[(N)
8 023026302  |FXSP-25 i@&= ADC 1 1,800
9 011332601  [SE-25X Fvv&n 47 NBR 1 800|(N)
10 011048702  [SE-25 757" IV w4V CR 1 200|(N)
11 014801003 [15A7° 34" 43 2 500[PA-155(4971770-102149)
12 |023044502 |[MP-25 /4% 74M%- 1 10,700
13 [034007101 [SM-25 (A’ S AT v & v — SUS T=0.3 |2 200|(N)
14 |023001804  |FX-25 Ah=hhy- 1 1,500
15 023002401  [FX-25 7774N - AF0-) 1 400|(N)
16 707819037 |[NFREEMA+ERMAFRMRY |g/l'vzll x1 0SW |2 200|(N)
17 |023039306 |[MP-257 4 )L9—4—2 PC 1 1,400
18 |034078101 [SM-251y7°Uv)° ABS 2 400|(N)
19  [034078201 [SM-257TDF=v7° ) ABS 2 300
20 |034078301 [SM-25 25X207TDFzv7° h ABS 1 300
21 |034078401 [SM-25 25X1585/31297° I ABS 1 300
22 034006501  [SM-25 197°Uvy™ I’ v%y CR 2 300[(N)

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/03/26 11:35:49




PITT Qube
ORMEASEBROBEFT>TEY A,
ORTEGICHERIISEINTEY A,

MP-25-AAA-4

OBMEFERCERTSIENHY T,

OERHIBIEREA DM X

No. mE & - HME B Eff iBE
23 023027602 |MP-25 &Ed— R 2S qx2300]|1 2,600
V 3M
24 (890255031 [OUv4° 1517-31 1 300|(N)
NBR
25 889855042 [0y P42 NBR 1 200|(N)
26 743119045  |MAN FILRESHEASAT Vb M8x20 3 200|(N)
SWRM
27 743119032  [MAN IR ESERANERIL b M6x2 0OSW|7 200|(N)
RM
28 775219045  [TPxY 4x50B1 |4 200|(N)
29 703325073 |[+FERMAFARNRIELE M4x6 BS |1 200|(N)
30 023027407 |MP-25-AAA$%HR FhOY7 1A 1 200|(N)
31 023801602  [FXSP-25 Ahb-1-43 1 2,700
32 023039403  [MP-25 74W9-5-275"7° §- PC 1 900|(N)
33 940019032  [f-an" yN ¢ 32 3 200((N)
34  |940019026  |H-An VI 926 1 200|(N)
35 940019022  [fi-an" yN ¢ 22 1 200|(N)
36 023039601 MP—25 E—4%—RYU—K#g SFO-61T- 2 500|(N)
250A L=100
37 023039701 MP-25 A{vFFY-} #2 SFO-61T- 2 500|(N)
250A L=50
38 023039801 MP—25 7—2H!Y— K SFO-61T- 1 700|(N)
250A HiHF
1+
39 707819072 |NRELEA+FIMFRPARY M5x70 2 200|(N)
40 703319075 [+ AdHA™ vy IS M4 x1OSWI|2 200|(N)
RM
41 023023801 [+ZEMAFRMRY 3HELZR M5x130 [4 200|(N)
42 023015201  [FX-2522B A" 7Yv4" IN° v4y NBR 1 200|(N)
43 023015101  [FX-2522B A" 7Uv9" 799 %- SPG 1 200|(N)
44  |023017501  |FX-25 91-7"7994- BWW 1 200|(N)

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/03/26 11:35:49




PITT Qube
ORMEASEBROBEFT>TEY A,
ORTEGICHERIISEINTEY A,

MP-25-AAA-4

OBMEFERCERTSIENHY T,

OERHIBIEREA DM X

No. mE & - HME B Eff e
45 912706009 [FEIYVE#HZ 62977 2 1,200((N)
46  |023032602 |MP-25 nVbh b STKM 1 1,100
47 743119046  |MAN BILRESHEASET Vb M8x2 2 1 200((N)

SWRM
48 (023025802 |MP-25 77 3v#y - 2 2,400((N)
49 (023028101 |MP-25h—HRv TS5 2 700((N)
50 [023025902 [MP-JM-25 7 3%%vy7° 2 900|(N)
51 944790003 |BiKkEIEZERETF s(B-$1)61 4:%7 |3 300|(N)
B
52  |004003602 [FA-100 A{9F3-b 2 200((N)
53 004010301 |FA-100 ON-OFF 7°b-} 1 200((N)
54  [004002502 [FA-100 A{wFtyh BS 1 400|(N)
55  |004002601 [FA-100 24¥F3" A NBR 1 300((N)
56 [004010202 [FA-100 a+y7° 2v¥ 1 1,800](N)
57 [012321001 [SEG-25 /84 T A NBR 1 200((N)
58 708119038 [N iEE&+/INEAEEEMAIA 12 M4 x12SW (4 200|(N)
RM
59 708119037 |V 3EEE +/NMNERESIATA" 139 M4x10SWI[2 200|(N)
RM
60 [827319004 [Af\F+v b M4 1FLE |2 200((N)
SWRM
61 945300018 |[BF15AkE21—X MF-60 A& |1 300((N)
62 (023040701 [IM-MP ta1-2"$l¥" - 1 700[(N)
63 023040801 |MP-25 ta-2"#nd" -FAY-} & SFO-61T- 1 200((N)
250A L=50
64 889855018 [OYv)° P18 NBR 2 200((N)
00 [023040302 |[MP-257<F a7 1 11,700|NO.45 &
00 [023041801 |MP-25 27-%- 1 9,100

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/03/26 11:35:49




PITT Qube
ORMEASEBROBEFT>TEY A,
ORTEGICHERIISEINTEY A,

MP-25-AAA-4

OBMEFERCERTSIENHY T,
OERHIBIEREA DM X

No. RS Lk Bt - B B EfM wE
00 |034130401 [SM-254/A°SFREET v ¥ v — SUS T=0.1 |1 200|(N)
00 [023027917  [t-4-" V7" HBEURGHEAE A4 P16 1 O[(N)

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/03/26 11:35:49




